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Question Number : 1 Question Id : 5431075322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Find the missing number (?) in the series :
STl § g EET (?) BT Il oSy
4 18, ?, 100, 180, 294, 448

Options:

gcollegeduniaé



Question Number : 2 Question Id : 5431075323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

In a row of bovs, it A who is 10th from the left and B who is 9th from the right,
interchange their positions, A becomes 15th from the lett. How many bovs are
there in the row ?

Fedl & Up Uldd § ufe A W 9 9 1047 € 97 B & S 9§ 947 & U4 WiHr 9
Hedr-aael @Y 8, A TR Y 1541 B T 2 | ufae 4 wa o dsé § 2

Options:
23

Question Number : 3 Question Id : 5431075324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

P iz the brother of Q and R. The S is R's mother and T is P's father. Which of the
tollowing statements cannot be definitelv frue ?
P,QUI R F AE 215, R A & 3R T, P far 21 B9 § 9 SH-91 %24
Options:

T iz Q's tather

, LOQ® faar &



S is P's mother
S, Pl HE &

Pis S's son
P,S®H J3 B

QisT's son
QTH Y &

Question Number : 4 Question Id : 5431075325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

533 is related to 293 in the same way as 488 is related to:
533,293 ¥ GUl UPHR Heltd @ oY 488 HafgT 2

Options:

1 291

o
=]
(W

437

Ll
w
b

Question Number : 5 Question Id : 5431075326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
One morning after sunrize, Suresh was standing facing a pole. The shadow of
the pole fell exactly to his right . To which direction was he facing ?
qied @ a1 U6 WAEd GRT @9 & W @Sl oOf | W @ BRI Ofd $HEG qF
s el o | 98 Ty oo & 99 Ssr o ?
Options:
East

;
West

st PIEE e
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South

G

North
SR

Question Number : 6 Question Id : 5431075327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

If FRIEND i= coded az HUMJTK, how iz CANDLE written in that code ?
afe FRIEND, HUMJTK & %9 H @cdd ¢, df CANDLE §H @c 4 &4 oy

Options:
) EDRIRL

, DCQHQK
. ESJFME

, DEQIQM

Question Number : 7 Question Id : 5431075328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Grass : Erosion : : Dam : ?
T : 3T9RG : : arg ;7
Options:

Water

Current
3 BT

Rain

4. 991

gcollegedunias



Question Number : 8 Question Id : 5431075329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Yard is to Fence as Cell is to :

T TGS § 997 HEyg & 9T IR @6
Options:

Mitochondria

mEcraiigm I

Cytoplasm
A A
Arscieid H

Membrane

MNucleus

AT 9

Question Number : 9 Question Id : 5431075330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice GQuestion
Bill : Law : : 2 : Insect
il C B ? T
Options:
Pupa

Stage
ST

Larva

Question Number : 10 Question Id : 5431075331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

&collegedunias



Today is Monday. After 61 days, it will be :
TS WA £ 61 &A1 & a1 BRI

Options:

Tuezday

1.

Monday
% i I |":I E

Sunday

= o rjci b

Saturday

PRRIREIR

Question Number : 11 Question Id : 5431075332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
Choose the word which is least like the other word in a group :

a8 Weg GMAT O W2 H o e @ Hifd <gAaE 2

Options:
Day

s

T

Calendar
2 "-1‘; ':.-: [r\5 W,

Date
ferfer

Month
4 HIE

Question Number : 12 Question Id : 5431075333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

In a class of 60 students where girls are twice that of boyvs, Laxmi ranked 27th

from the top. If there are 9 boys ahead of Laxmi, how many girls are there after

Laxmi's rank ?

60 BTEl &1 U HEl § Tel dsihdl dAedl @l ailAl ©, 88l B] ¥ Y | 2747 2/

afe Sl ¥ AT 9 A €, df AeA B Vb & aq q{e fha-l oefear g ? M collegeduniar
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Options:

-
1. 2

21

Question Number : 13 Question Id : 5431075334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Guestion

There are tive books of different thickness. A is thicker than C and B is thicker
than D. E is not as thick as B. but is thicker than C. D is not as thick as C. Which
is the thinnest book ?

A3 HICls @I ufd Qs &1 A, C 9 H11 2 991 B, D 9 AlET 21 E 341 Hiel
Options:

E
1.

D

Question Number : 14 Question Id : 5431075335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Find the number of triangles in the given figure:

o1 AT A F Bl & w9 Sy

NN NS
0
90028
XXX

Options:

&collegedunias



40

Question Number : 15 Question Id : 5431075336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

It South-East becomes North, North-East becomes West and so on. What will
West become 7

e SE-RE 9OX 81 ol g 9a%-Yd UieEd 8 ol @ a7 SEl W AT A
qi=d @r 81 SR ?

Options:

North-East

North-West

3 TNIBTRRS

South-East

. CiGLEE]

South-West

SIETU-gie=H

Question Number : 16 Question Id : 5431075337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Artists are generally whimsical. Some of them are frustrated. Frustrated people
are prone to be drug addicts.

Based on above statements which of the followine conclusions is true ?
o |

HATHI HHRIGH W6 8l 21 399 §o $Hived 8 21 Hfvsd AN A6 59
@1 X% Ugel B 2 |
ST HIET U a9 § ¥ S e gy 2 7
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Options:
All frustrated people are drug addicts
|41 |fted &0 Ale® gl AEHl Bld 7

Frustrated people are whimsical

Hftsd SN H@l 21d 2

All drug addicts are artists

Yl ATed oo A4l HeThN 2l 2

Some artists may be drug addicts

. Y HAlDN AlGd g Al 8l Uhd ©

Question Number : 17 Question Id : 5431075338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following figures shown below, when folded along the dotted
lines, will form a pyramid fjmped box with a rectangular base ?

=Td ST T A Srpiaal d e Sia @I o8 fegar s & HHFY HJEl
WAl €, SEAreR AR @ 9 ARIES @R &1 died a1 7

S T BB

(a) (b) (c) (d)

Options:

cl
1.

Question Number : 18 Question Id : 5431075339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



How many dots are there on the dice face opposite the one with three dots ?
'ﬁl“ |“4 x?ﬂT r|'Q'| elch _ﬁ Gi Hl"l T eoldy UY "bf"i H’H'?"i |f~=""' Fv 7

(11) {m} (1v)

Options:

j &

Question Number : 19 Question Id : 5431075340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Count the number of triaﬂglez and squares in the given figure :

Options:
36 trianglez., 7 squares

i 36 By, 7 @

38 triangles, 9 squares

, 38 B, 9 af

40 triangles, 7 squares

. 40 Fre, 7

42 triangles, 9 squares
42 35, 9 7

Question Number : 20 Question Id : 5431075341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Qcollegedumas



A cube has six different symbaols drawn over its six faces. The symbaols are dot,
circle, trla_ngle square, cross and arrow. Three different positions of the cube
are '-"hcmm in figures X, Y and Z. Which symbaol is Dpp::ls.lte the dot ?

U B 4 T HF-HTT Had 2 W 39 B Bl UY g1 A1 2| Hahd 65,
g, ﬁ“ﬂﬁ T, B v 9% 21 =4 ‘5 rn—* ~‘-4’*1*I 37T fRerfer &7 AP X, Y 54 Z
5 ST AT 2 | BIF-91 Havd fog & ?

@

(x) (¥) (Z)

Options:
Circle

1 ﬁ-
Triangle

LS

Arrow
K

Cross

Question Number : 21 Question Id : 5431075342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

Choose the alternative which closely resembles the water image of the given
combination/figure.

S9 famed @1 gy o 53 T WAeE/aneia @ o ufafeE @ sl gaE 2|
ADVANCE

(1) HONVAAY QVDAVUCE GIIOUAVDA 4 None

Options:
1

1.

(]



Question Number : 22 Question Id : 5431075343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

There are six persons A, B, C, D, E and F. C is the sister of F. B is the brother of
E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in a group. Who is the mother ?

® &g A, B,C, D,EWFEIC, Foml g89 | B, E® gt &1 9E ©|1 D, A &7 fian
2 3R F &I are1 2| 998 H &1 Uar, o9 918 o291 U A1 2| °f &F 8 7
Options:

A

L

Question Number : 23 Question Id : 5431075344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Q's mother is sister of P and daughter of M. 5 is daughter of P and sister of T.
How is M related to T ?
QHHPH FEA TN MBI SIS, PH A TN T TEA eI MBI T H
T Hag g 7
Options:

Father

Grandfather

Grandmother

3. ool

Either Grandmother or Grandfather
4. _‘lT[ ':-_—h- E.,_ by _‘lT[ g | e

Question Number : 24 Question Id : 5431075345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 000 Pl An it and

No Control Enable: Yes .
Correct Marks: 3 Wrong Marks: 1 &Couegeduma



Question Label ; Multiple Choice Guestion
Arrange the words given below in a meaningful sequence.
1 T T wresl @] 9@ B H waied Sy

(1) Elephant (2) Cat (3) Mosquito (4) Tiger
(5) Whale
Options:

1 5,3,1,2,4

5 3,2,4,1,5

Question Number : 25 Question Id : 5431075346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

If Z =52 and ACT =48, then BAT will be equal to:
gig Z = 52 991 ACT = 43, 91 BAT ¥4 211 :

Options:
39
1.
41
2.
44
=
46
4.
CHEMISTREY
Section Id : 54310758
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 25
Number of Questionsto be attempted: 25
Section Marks: 75

Display Number Panel: Yes gco”egedunia;



Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 54310759
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 5431075347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The adsorption of chemical species from solutions on solid surfaces usually
tollows :

oTd Hagl X gl ¥ vEEe WS B ey agar A-uTes Bl ©
Options:

Langmuir equation

1 G RIES 'EF TSR] ]

Freundlich equation
helcids THTH] 6l

Gibbs equation
FTeq THTHI &l

Ostwalds equation
AT dlce TATEN 6

Question Number : 27 Question Id : 5431075348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

On adding few drops of dilute HC/ to freshly precipitated ferric hydroxide a
red coloured colloidal solution is obtained due to :

v Fdierd wiNe gEgledss H §9 48 o HC &1 Had W a3 @60
PIargEl faeras g1 2, foras SR 2

Options:
dissolution

1 Hcr’i'-' ‘1'3| 5\|;
dialysis

5 H q B

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn



pep tization

ey Y

coagulation

Question Number : 28 Question Id : 5431075349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following pairs is correctly matched ?
Options:
Energy of activation : Bronsted

) Gishaur Tl 8 e

Transport number : Hittorf

, ST W e

Dipole moment : Arrhenius

5, TERAl ST« SIRETRIR

Distribution law : Tyndall
4 LF LN ] |' -]] L -E\_..E{'I

Question Number : 29 Question Id : 5431075350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

When concentration of a reactant is doubled, the rate of a reaction becomes four
times. The order of the reaction is :
o Tl e & digdl s @1 Wil 8 | AR @ 8 4 T 8 Wil B
Options:

0

1.

[+

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn



Question Number : 30 Question Id : 5431075351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

0.004 M agueous Na,50, solution iz isotonic with 0.01 M agueous glucose
solution. Degree dissociation of Na,50; is:

0.004 M il Na,$0, fed 0.01 M Welld T fdeds & 91y SgAci® © |
Na,50, &1 a9 2

Options:

25%

1

Question Number : 31 Question Id : 5431075352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Cu’ (ag) is unstable in solution and undergoes simultaneous oxidation and
reduction : 2Cu" (aq) <> 7 (ag) + Cu(s). It E® {C‘u”z_.ffuj =034 V and E°
{C‘rﬂ'z /Cu")=0.15V, the E® for the above reaction will be :

Cu" (ag) Tae@™ & arEqiod & 7 HY-A A6 T4 SFT=RM 9§ ovdl 2|
2Cu" (ag) < Cu"z{aq} + Cu(s) | Ifg E° (Cu*? /Cu) =034V Td E° (Cu™ /Cu )=
0.15 V, SU¥ieae HAHiHar 2q E° &M

Options:

) +049 WV

+0.33V
2.

2 —0.38V

—0.19V
4,



Question Number : 32 Question Id : 5431075353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

One gram of A decays by B-emission to 0.125 g in 200 yr. The halt-life period of
the reaction is
B-STHGiT BTN 3TUEd @1 U WH 200 T9 F 0.125 UTH ¥ | SAAHAT B -3y e

r=
.

Options:
0.14 yr

, 014 au
600 yr
, 600y
66.6 yr

5 66.6 ay
6.00 yr

4 6.00 99

Question Number : 33 Question Id : 5431075354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The coagulation values of AICI; and NaCl are 0.093 and 52, respectively. The
ratio of coagulating power of these chlorides will be :
AlCl, Td NaCl &1 Whed A HH 0.093 U9 52 & | 39 FaRTSS| & whad wfad &l

Options:
) 0093 -1

Question Number : 34 Question Id : 5431075355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Plav On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1 gcollegeduniaﬁ



Question Label ; Multiple Choice Guestion
Which is the group reagent for precipitating Mg ?
AR H 9T w3 & AU $A-91 998 Ry vgad 6 o g ?

Options:
i dilute HCI + H,5

, NH,Cl+NH,OH
_ NH,Cl+ NH,OH +(NH, ), HPO,

o, NHCl+NH,OH +(NH, ), CO;

Question Number : 35 Question Id : 5431075356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not atomic number of inner transition elements ?
=1 § @M gAY gifaAer edl @1 UNHEI] SHiS T8] & °

Options:
29

Question Number : 36 Question Id : 5431075357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which one of the following pairs is isostructural (ie. having the same shape
and hybridization) ?
=1 741 H U (o9d a1 G3a S20ia 99 STeR a2l Ghvv Hefar g 7

Options:
NFE; and BE;

, NF; 3T BE;

Qcollegedunias



BCl; and BrCl;
BCl; 3R BrCl,

BF; and NH;
BE; 3i® NH;

NH; and NO3
NH; 3% NO3

Question Number : 37 Question Id : 5431075358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Aluminium is extracted from alumina (Al,O;) by electrolysis of a molten
mixture of :

UCAAT 9§ YegHITaA & Fesy f= & foeel s 3 faar o 2

Options:

Al Oy +CaF, + NaAlF,

.:‘1.'1203 —':‘\TE?:.;.%.I.FE + L_ﬁ'}.:z

2

Al,O, + KE + Nas AlE,
=
i ;415203 + HF —._-\'T."TA.?.F4

Question Number : 38 Question Id : 5431075359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following statements is not valid for oxoacids of phosphorus ?
e weet § ¥ @19 BIEpNg & - & fov 99 98 2 7
Options:
All oxoacids contain tetrahedral four coordinated phosphorus
| T SRR Sl § WIERRY TgThehd 4-BIAST BT &

All oxoacids contain at least one P = O unit and one P-OH group
, O STRA Al § B U BH UH P = O FHIE 7A T P-OH UYE &Il &



Orthophosphoric acid is used in the manufacture of triple superphosphate
5 FUeii guRwpiese T § AATEIEpiNG 36 &1 HhrET 8 §

Hypophosphorus acid is a diprotic acid
ETSUIPINHIRYT 3% Udh gadic! 3 =

4.

Question Number : 39 Question Id : 5431075360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The pair of species with the same bond order is:
TH TG Plfc V& drell @Iioadl o I 8 ¢

Options:

Ny, O
RS

ch ;i NO
4. 7

Question Number : 40 Question Id : 5431075361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one is the smallest anion among these ; C de A ;‘\."3_, 0% il f
S -9 U6 G99 BIST ®URH 8 ; C, NY, 0%, E 7
Options:

,

Question Number : 41 Question Id : 5431075362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1 gcollegedunias



Cuestion Label : Multiple Choice Question
In the modern periodic table, the period indicates the value of :
g Arad AR H A w1 A B Hehd Dl @

Options:
Atomic no.

1 U< ] V]

Atomic mass

Pri:nciple qua:ntum no.
5 & @ Ho

Azimuthal quantum no.

41%“-T’Efﬁﬂ?rrﬂﬁﬁo

Question Number : 42 Question Id : 5431075363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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uestion Label - Multiple Choice Cuestion

Which among the following represents the correct chemical formula of brown
ring formed during the qualitative test of nitrate ?

=1 H 9 B AECE B UIAS IV & SRME &1 P Todl F el EAHS G
Options:

1 [Fe(H,0)s(NO)I**

, [Fe(H,0)5(NO)I

, [FelH,0)5(NO)I**

. [Fe(H,0) (NO)I**
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one is most acidic ?

Options: Qcollegeduniag
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Phenaol

1 IR

p-nitrophenol

P e

Amnisole

g

Lyl e

Resorcinol

5
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Ethyl alcohol on oxidation gives :
TS IR &1 ATRIH ol 8

Options:

Acetaldehyde
1 L] C F{'\g & -{E' o

Acetone

P 5

Ethyvl acetate
LS ufce

Dimethyl ether
SIS S 39
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Cuestion Label - Multiple Choice Question

Which one in the following is electrophile ?
= § 9 $19 SoiacmEd 8 7
Options:

N7O,

1
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OH,

NH,

N0,
4.
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Which one of the tollowing does not have carboxylic group ?
=1 H | F Fraades 98 T8t auil & 7

Options:
Picric acid

; afshe

Formic acid

z‘ﬁhﬁﬁm

Toluic acid

5 CIgia® 3

Phthalic acid

i sifeTep 37
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Lactic acid is a molecule, which shows :
Options:
Geometrical isomerism

; FTHG T WHTGI T

Tautomerism

o, AL
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Dptica] 1S01eTrisl

5 WIS TGl

Metamerism

4 HEATGAI AT
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Methanol is knowmn as :
=5 1 e B 1 1 e £

Options:
Rubbing alcohal

i e Uehigdl & @9 H

Grain alcohol
U9 Uothied & w4 H

Denatured alcohol
fapd Uohled & w9 |

Wood alcohol
Fow Uohled & &9 4
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Juestion Label - Multiple Choice Cuestion
Which of the following is least basic ?
Options:

| CH:NH,

(CH

z. }SN_

S
=

(CH5),NH
=,
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Question
The 'N' atom in pyridine is :

OIS H N OvHT] @

Options:
sp” hybridized
1 5;}5 HeY

:"-;.12 hyvbridized

5 :"-;,12 HET]
sp hybridized
5 5P HhHVo]

cannot be predicted

T 921 &1 ol 9aal &

PHY MATH

Section Id : 54310759
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Section type: Online
Mandatory or Optional: Optional
Number of Questions: 50
Number of Questionsto be attempted: 50
Section Marks: 150
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1

Sub-Section 1d: 54310760

Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5431075372 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Two physical quantities P and Q have different dimensions. Which of the
tollowing mathematical relations is meaningful ?
P &R Q = wifte WRRT @ famd f=f= &1 e 4 s i g
Options:

P-Q

1

PQ

2.
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Wind is blowing from east to west along two parallel tracks. Two trains are
running on tracks in opposite directions. If trains have same speed and steam
track of one is 3 times that of the other, the speed of each train is :

T AMNY UeRdl & Y g4 e ¥ UfEd & @8 vE 2] UeREl ROl
ermfedl Ue gEx @ fawda f{um A = @ ) ofy migdl & A euew ® iR
U M B A U P IS g S B AT U I g Bl A e Al e
YA TSl Bl dlel ¢

Options:
equal to that of wind
| B4l @I ;A B AREN B

3 times that of wind
gal & A B Al €

two times that of wind
Zal @] Al @ GO ©

4 times that of wind
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Correct Marks: 3 Wrong Marks: 1
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Cuestion Label : Multiple Choice Question

A boy moves 15 m North, then 10 m East and then 154/2 m South-West. His
diEpl;'lCE"lT'lE‘l'lt from the original position is :

U dreleh 15 | BT, % 10 #1 9¥e AR By 152 41 SfEv-uit=s o 1 9us0

Options:

7 m South-West

7 # Sigo-uig=A

14 m South

14 A7 =gy

7.5 m East
754 i
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uestion Label - Multiple Choice Cuestion

A long spring stretched by 2 cm has potential energy V. When stretched by 10
cm its potential energy would be -

U o HHA] DI 2 ﬂfn Wi ™ sael Refow $w V 1 4 39 10 99 9
“I*l Gﬂ' ‘a"lfhl ﬁ"'ﬂ"ﬂu‘l x:’rU'II E'I || !

Options:
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No Control Enable: Yes Q
collegedunia:s
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Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

Mass of earth is 830 times that of moon and radius of earth is 4 times that of
moon. The value of g at moon is i times that on earth where 12 is

gl 1 GeHAN dwsAl @1 80 AT AR YAl o Fed " $1 AR A 21 g @
T H TR A el &1 o [ 8, WEl 0 2

Options:

1

b
, 20
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uestion Label - Multiple Choice Cuestion

In the wick of a lantern, kerosine oil rises up due to :

SATeTe @1 a1 § BT Jof gedl &

Options:
surface tension
I% T & BRI

1.

buoyant force of air
o Bl & Tl gcl & BN

gravitational pull of the wick
il @ Y[wealhyul gl & BRI

=

diffusion of oil through the wick
4 T 9 O & faRN0T & B
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Cesticon Label ;- Multiple Choice Question
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At which of the following temperatures the surface tension of water is
minimmum ?
== ¥ {91 OR el @1y =g <gHaad 8F 7

Options:
" i
I} %,

j,

25° C

25° o

60° C
60° Ho

30° C
30° Ho
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

In the sun's spectrum, the Fraunhotfer lines are explained by :
Y @ qUiHH HEIHY Nl HI e 2l g

Options:
Planck's law
, i & | g

Wien's law

Newton's law
i & HEE |

Kirchotf's law

4 TheE® & a9 9
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Cuesticon Label : Multiple Choice Question
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An ideal heat engine exhausting heat at 27° C has etficiency 25%. It takes heat
at:

TH HATSY SET To Raasl 28T 25% &1 27° Ho TN T Soded &edl & df I8
= 19 99 &1 989 &

Options:
673°C
; 673°Ho
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Cuestion Label - Multiple Choice Cuestion

The length of a simple pendulum changes by 20%. The time period changes by :
el BXel Ard B aTs H 20% &1 gRac e ¢ | Saadia § gRadd 86
Options:

20%

.

40%
z.

-\JI'E %
=

10%
4.
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

An open organ pipe produces fundamental note of frequency f. Where one of
the ends is closed the fundamental note has frequency ?
T Gol IFH el & ol WY @ AghT £ 21 a5 56 U FY &1 95 @ &

Options: &collegedunias
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1:
T
=R
fi2
=

None of the three

4 OFTH ¥ BIS T2
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Terminal velocity of a spherical ball of radius r and density p falling under
gravity ¢ in a liquid of density p, and viscosity 1 depends on :

o g @ U9 ¥ r 901 Ud p UFed @1 U AR A8 py O SN 1) WAl @
gd ¥ R &1 8| 3961 =F 971 Y &3aT & ¢

Options:
rand 1 only

lzl'ﬂr'éﬁﬁr]'ﬂ

r, N and p only
5 HA 7 f:iﬁ?'p R

r, N, pand p,only

., AT N, p 3R p; T

r,p, Pg gand 1
r,P, Pg g AR M W
4,
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Juestion Label - Multiple CThoice Cuestion

Electron volt is unit of -

S, T A
geldgiH diec 3PS &

Options:



potential difterence

HC'-]‘F] t‘ﬁ?fﬁ

energy’

, oIl T @

electric field intensity

49 & A e A

force
o]
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Cuestion Label - Multiple Choice Question

-

Torgue on a dipole in an electric field is maximum when angle between P and
E i5 : _ _
el g &3 H g9 TR AT aTe 9erH Sfedd B § o P 3N E @ 4
&1 DI T
Options:

0°

1.

90°

150°

He=
.l
Q
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Cesticon Label ;- Multiple Choice Question

The resistance between AB is (Fig.) : Ae |
o # AR B& 49 ufowe 2 100 2 i
1000

Be Qcollegedunias



Options:
6002
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Kilowatt hour is unit of :

- i & r i
[chdldlc HC] gdls © ¢

Options:
time

power

o U B

Eergy”

5 Sl @

charge

4eﬂ?frﬂT&ﬁ
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

When current is passed through junction of two dissimilar metals, the junction
temperature changes, due to :

Options:
Seeback effect

&collegedunias



Joule eftect
o A T ¥
Peltier effect
- UfeTT® g 9

Thomson effect
AqTHET UHIT 9§
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If only 2% of the total current iz to be passed through a galvanometer of
resistance G, the shunt resistance is :

afe G Wik & edMicy | @d R ® 2% 9N Ydiied 8F1 @l ol I &
PIGE R

Options:
&
i o0
&
49
z.
50 G
=,
49 &
4,
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Cuestion Label - Multiple Choice Question

The angle of dip at the magnetic equator is :

TR HE VT U Afd S0 6 9 B

Options:
Dl'_l

90°
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In a series LCR circuit at resonance one has -

Ud LCR uiuel H a1 &1 feufe # 8r

Options:
=y — l
1 LC
1
W=t
o -/ LC
Liww+ —L
= i
. 1
=
" 1202
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Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

Two waves with intensities 100 and 225 units interfere. The ratio of maximum
to minimum intensity is :

100 &Y 225 ST drgal @I &1 a3 SAae< &edl 2 | AHwEad AR gAaq daans
Options:

i 15: 10

gcollegedunias
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Cuestion Label : Multiple Choice Question

When light passes from one medium to another, which of the following does
not change ?

g WeHTY Uk ATEqH ¥ oW | o @ o1 e 4 @ uiafda T8 g 7

Options:
velocity

b

E,—l'

wavelength
L ‘~:‘ ﬂ: E :

refractive index

i
cilisp

frequency

e :_,"':| 'Cc T
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
Which of the tollowing is not the property of photon ?

=1 § I WIS & 0 T8 8 7

Options:
charge

wavelength

LA R

ENergy
L J

momentum

%G
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Cuestion Lakel : Multiple Choice Guestion
Lyman series of hydrogen atom lies in :
Options:

v
1 OV i

IR
IR d

X-rays

X- f}:ﬂ(':'\' '-':l

Visible range

4 E'E::'-] e
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Juestion Label - Multiple Choice GQuestion

Light vear is the unit ot :
qeTel 99 SPh1S T -

Options:
time

| T B

distance
5 &

light =peed
4 STET AT Gl

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

2
54310761
Yes
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Question Label - Multiple Choice Guestion
Let A and B be two disjoint subsets of a universal set ', then (AW B)m B =

t

afs AT B &1 A SUdg=d @Us W9=a U B 2, di(AUB) n B =

Options:

A
i

Nomne of the three

4r~_-|kleFF|?é'_‘|_FqT
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Juestion Label : Multiple Choice Question

o

letf:R— R, ¢ : R— R, be two tunctions given by f{x) = 2x — 3, g(x)=x"+5.
Then ( fog) () is equal to:
gt f:R—> RUd g: R — RS %o 39 UK fad g0 8 & fla) = 20 — 3 9o

g(x)=x>+5, ar (fog) ' (x) FT AN T :

Options:
[ ..lln '—? .Ildll-.. 2
L 9 )

1 &
i.- ? ST
o .|

2. LS s
| = pE
S

=4

1/3

| r—7 1
T |

4. =
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Cesticon Label ;- Multiple Choice Question
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The value of | — ’ +{|; =t

" AW |:"'1—.r' 2 .
—ia + i "

&) T
Options:

i
1.
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Question Label - Multiple Choice Guestion
1 1

;}+r’ r+1u’ p+q

arein A P then :

- 1 1 1 \ e, %
afe : : AR 40 | g, a0
q+r r+p p+q
Options:
p,q,rarein AP,
i P, q.r HAMY &0 léI BT

2 3
P arein AR

5 pj,qj,rl FHHY A0 F 20

i ii arein AP

JI'.'i‘rq r

By . N

=, =, = HEETR SO H B0
3 jI_?‘ {i' r

ij,i,“i,,areinﬂ_?
il Sl S
T T _\ o T
—,—,— A A0 F e
p— affi= s

4
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ouestion Label : Multiple Choice Question

. ; , 1 _
If o and P are the roots of ax” + by +c=0, then the value of + will
act+b  ap+b
be:
5 2 q oo 5 5 e * l l 5, ;
EIE ax” +bx+¢c=0 % T Jo oA B E, 1 + &1 AT BT
: aot+b  aP+b
Options:
i
] be
b
5 ac
2
5
5 ab
.
ab
<.
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Couesticon Label ;- Multiple Choice Question

It LSC,. : 15(?., 1 =11:5, thenvalueof ris :
afy ¢, ¢, ; =11:5dr & 79 B
Options:

2

L

L]
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Question Label ; Multiple Choice Guestion
It P— P* = lDP . then the value of » will be -
zﬁ'%—aﬁyﬁ%yﬂrwnmmm:

Options:

i F

L

Ll
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Juestion Label - Multiple Choice Cuestion
| 12
. ja . :
In the expansion of | —+bx | the middle term will be -
FEe

f

|—+£:,x r.TH [N H #2495 &1 |34 17

Options:
1 9204°b°

E_GQanbf
QE—Ln(’L‘{’
=

4_qz4n?b

Question Number : 84 Question Id : 5431075405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

are binomial

The wvalue of CD E_{_x Lo 4 C2 wll be, where Cy,C,,...,C

coefficient :
Ca+CE+C3+...+C2 @ 9 &8F° 58l Cy,C,y,...,C,, g s 2 -
Options:
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Couesticon Label ;- Multiple Choice Question

The value of following determinant wherea, b, care in A. P. will be
f=feiag arfoe &1 99, 97 a, b, c G9EMFGR S0 5 € o1 861 ¢
r+1 x+2 a+a

x+2 x+3 x+b
43 x+4 x+e

Options:

0
1.
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Juestion Label - Multiple CThoice Cuestion
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. Tl | {422
5

FA={2 1 =3 |and B=‘— 0 o | are two matrices and B is inverse of 4
2

E 4 i) | A 3|
then value of o is :
; SN l—‘ 4 2 2
g A=[2 1 -3 | 3R B=|-5 0 o &7 WYg & @M B, A & ok
1 4 3 1 2 3]
(inverse) g, dlo® A4 & ¢
Options:
-2
1
> 7
2
>,
5
4,

Question Number : 87 Question Id : 5431075408 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

g ]

g 3 T 2 -
The value of sin" 0+cos° 0+ 3sin" Bcos 0 is -
= R 2 e
sin° O+ cos” B+ 3sin" Bcos B BT HME -
Options:

gy,

Question Number : 88 Question Id : 5431075409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question
The least value of 2zin” 68+ 3cos7 8 is -
2sin” B+ 3cos” @ BT YAdH FH ©
Options:

&collegedunias
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Question Number : 89 Question Id : 5431075410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

In a triangle ABC,ifn =3, =4 and sin A=—, then ZB will be:

He |

, T IV B ST A &M

s

e ABC 530 a=3,b=43R 'Eil'LAZI

Options:

90°
1.

60°

(&%)
=
o

Question Number : 90 Question Id : 5431075411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label ; Multiple Choice Question

The angles of a triangle are as 1 : 2 : 3, then the ratio of the greatest side to the
least side is :

el Brget & 101 § g H 1 - 2 - 3 &1 AU © | O FE 99y 981 g &
YT 9HS G99 BICT Yol & T BN

Options:

1 ’\.'HE‘ ; "u"ff;r
08

z.
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Question Number : 91 Question Id : 5431075412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The length of tangent from (5, 1) to the circle x2+yt+6x—4y—3=0is:

Eil .'ni—é—!,-'j +6x—4y—3=0 & FU _-r-;?_}‘ (5,1) 9 S ™ e NET W TS B
Options:

51
1.

~J]

Question Number : 92 Question Id : 5431075413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following triplets give the direction cosines of a line ?
=1 &3 gu O Wl & WE § S0 W U i gY X B @ ®redr 8 7

Options:
1 7 |
1:
s |
2.
1,1,-1
=
3313
4 ‘\."E ; *."E J *u.l'"'_?:

Question Number : 93 Question Id : 5431075414 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1 .
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Question Label : Multiple Choice Question
For giren function :
fadl B¢ el

37 -1 for -1<x<0,

DExeanm

—,
—
=
L
I
A,
i
o
g
i | =
=
g
H

for m2x<6

then the value of f(n/6) is -
@& foIU fim/6) &1 91 2 :
Options:

1-43

Question Number : 94 Question Id : 5431075415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

. ' — . J".'T 5
If ¥ =¢"" then the value of i 4 will be -

ax
: i . i .
g =Y, ar X 1 am Em
dx
Options:
Y
1 X

xiy(1+2log x)

2.
4
2
= 1+a
log x

y (1+loga ¥

&collegedunias



Question Number : 95 Question Id : 5431075416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

S
A l—cos2x

Thevalueof im——— is:
1—0 X
. All—cns2: 5
X 2 HT AR
x—0 X
Options:
0
1.
1
2.
-

does not exist

Question Number : 96 Question Id : 5431075417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

5y 5 X’ 46, x<0 . S
If f(x)= J be continuous at x = 0 then value of a is:
].2.?41, x>0

S ,&"_1 +6, x<0 - — =

?Tl?:_f.:.a}::[ , x=0R HIJ &, dl a BT 91 & :
|_2n—.s., x>0

Options:

1
1.

2
z.

3
=

B
4.

Question Number : 97 Question Id : 5431075418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question Qco”ege s



The minimum value of f(x)=3—x|+|2+x|+|5—x]|is:

B f(x)=|3—x|+|2+x|+|5—x| T ~TGH A B :
Options:
4
10
2
sk
i 0

Question Number : 98 Question Id : 5431075419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The value of Jla:ug xdx is:
Ilﬂg,uh W OAN B

Options:

. x(log v —1)

" logx—1

Question Number : 99 Question Id : 5431075420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

2 sin®? x
The value of T s Ok 351
g ST X+copsT A
IE .. 1Y
sin A -
‘[ - '}DLC_I '!ID‘!L‘| ':-r']' Fm g
n SINT T X+cosT X
Options:
I
|
sy 8
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Question Number : 100 Question Id : 5431075421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Question

3n
& 3
The value of J TR | 4
l+cosa
T4
1 :
| dx @1 A & :
*  l14cosx
A
Options:
1
1.
3
=
>
=4
1/2
4.
Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:

Sub-Section Id:

EICLOGY

54310760
4

Online
Optiona
50

50

150

Yes

No

1
54310762

gcollegeduniaé



Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5431075422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Lakel : Multiple Choice Guestion

Irish famine of 1845 was caused by :

1845 Tl ATINY T AHIA [Fad BRI g3l ?

Options:
Alternaria solani

FeevTivaT i)

Synchytrinm endobioticum

ey . o
MiRICdq geldidlicdrd

Phytophthora infestans

- g
HISCENT g HvCH

Fusarium oxysporum

TIHINTH HTTTINH

Question Number : 102 Question Id : 5431075423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
Embrjcn 13 nof present in :
Options:
Gymnosperms

L W

Bryophvtes
AR EH ok ¥

Pteridophytes

Question Number : 103 Question Id : 5431075424 Question Type: MCQ Option Shuffling : Yes Display Questi
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : Q I
No Control Enable: Yes . et



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
One character comumon in all pteridophytes is :
T el Wl i cRSrbgcy A Ul Wial §, 98 ©
Options:
Heterospory

. %
ISR ER I E]
1.

T.Eptu::EpDrallgiate Epnra:ngia
s 5 N R -
5 el SR [~dUC ]

Protostele

s PIMEEw G

Absence of ovules

i STl i eIt

Question Number : 104 Question Id : 5431075425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Guestion
The sperm of fern is :
Options:
Unicilliate
, @ qeHT

Bicilliate

& Ted

Tetracilliate
TN eH{Tg

Multicilliate

i 98 UEAy

Question Number : 105 Question 1d : 5431075426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

&collegedunias



Fern sporangium burst at :

i %

T 1 WINTH IRGied Bl ¢

Options:
Annulus

i Oty u9x

Stomium

T T°

QOstiole

Operculum
H IIEI:E-?“:l U

Question Number : 106 Question Id : 5431075427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Winged pollen grains are found in :

GEga IRATHY 01 S 2

Options:
Pteris
crw |

Selaginelln

Hollorom |

Pinus

iz 9 H

Cyens
HId o '_‘r

Question Number : 107 Question Id : 5431075428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

If the diploid number of an angiosperm is 36, what would be the chromosome
number in its endosperm :

afe e gl § @G S 36 8, 99 $He YU H UEl B Je ) erl Q

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn



Options:

1 36

(==
a0

Question Number : 108 Question Id : 5431075429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
Peroxisomes are related to -

Pt =, -

yeatifergdry ey weafag & 7

Options:
Photosynthesis
LEDE] Hyequy

Photorespiration
2 Jc}:.- E|| \qatﬂﬁ_ \T:'
Photophosphorylation
3 TRICTHIERINGET |

Transpiration
0 T %,
o "1 H
4 i

Question Number : 109 Question Id : 5431075430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Tonaoplast is the membrane of :
cHrRe fhad! f3eel 8l © ¢
Options:

Cytoplasm

Vacuale

CITRCr)

&collegedunias



Nucleus

3.-:'.- cn

Mitochondria

4 ]:”5 ;_x r]n' -"'>_'-[? ::l

Question Number : 110 Question Id : 5431075431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Kreb's cycle occurs in :
el Fh Hfed Bl &
Options:

Cytoplasm
| PIEHT & |

Chloroplast
o BRG Tad A

Mitochondria
3 A% crepti=gar 4

Both cytoplazsm and mitochondria
4 HINTET 524 U4 Hgcrpit-gar sl 4§

Question Number : 111 Question Id : 5431075432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question
The first CO; acceptor in Cy plants is
Cy Tl 5 9| CO2 ATl B ©
Options:

Phosphoenal pyruvate

FieEpsaTe fUsde

1.
thulaf 1,5- 1plll:tsplmte
5 e T 1, 5-S8hiehe

Oxalo-acetic acid
sfRAe-Taes ard

=



Phnzphc:gl}'ceric acid
4 BTERTETHIE 3%

Question Number : 112 Question Id : 5431075433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Spines in a cactus are moditfied form of :
o ne ,- Al e
ATl & @ic [hdd SHUdiNd w9 2ld & ¢

Options:
Buds

1.

Stem
o [xhall

Leaves

Stipules
T

o i

"

Question Number : 113 Question Id : 5431075434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Latbel Multiple _holce Cuestion
Coconut fruit is :

RTE (BIHE) & Bl Bl 2

Options:
Nut
1 qC

Nutlet
2 [l I

Drupe

7 B

Capsule

L Q:l(’
4. A
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Question Number : 114 Question Id : 5431075435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question
Stipules are modified into tendril is -
AU BT WATRY cgel H 81 el & ¢

Options:
Smilax

Asparagus
&

o TERTH H

Hibiscits
fefavry 4

Pistan
4 UlzdH ﬁI

Question Number : 115 Question Id : 5431075436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Cuestion
Stamens are branched in :
gHT STErel H 4 8@l €
Options:
Ricinus

™ 4

1 .;'\‘.'.'"-':.‘ ;.'T'-"?.‘r-q

Euphorbia
T vigar 4

Hibiscus

Calotropis

Fﬁ:"\".f.: [l :. I..* g ff

Question Number : 116 Question Id : 5431075437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

&collegedunias



Velamen is found in roots of :
= 5 9 frgsT Wi § eSS Ut W 8

Options:
Cyeas
HIs A

Ferns
e

Orchids
3 AR

Mangrooves

4. o

Question Number : 117 Question Id : 5431075438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is terminating codon in genetic code ?
g H | BIF WFNG BIs § FHE B drell BISH ¢ ¢
Options:

TE]
- UCU

UucC
4.

Question Number : 118 Question Id : 5431075439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is a Bryophytes ?
faiad 4 ¥ 9 % SEFEe © 7
Options:

Club MQSS

&collegedunias



Reindeer MOSS

2 l‘\: ‘-‘\§| "':l "\ .{-F

Iris MOGS
3 AT =5

Bog MOSS

Question Number : 119 Question Id : 5431075440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Transfer of information from D. N. A. tomR. N. A is called :
Slo To Yo § TH-HRo To Yo ] Gl & RIFFRY HEel 2

Options:
Transcription

1 E ~ fEF» 2T

Translation

b 1L ||

Transduction

5, ST

Migration
4 TSI

Question Number : 120 Question Id : 5431075441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Latbel Multiple _holce Cuestion

Complete dominance is absent in :

U1 BT ST el €

Options:
Piswm satiowm

1.

Mirabilis jalapa

YigiH Holgdd H

5 [BvTeleig Aoyl

Qcollegedunias



Qenothera lamarkiana
TTIeRT eEN harT &

Lathyrus odoratinmi

AgEvH HISINCH

Question Number : 121 Question Id : 5431075442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Nitrogen fixation in Alnus root is due to:
o7 Bl wel § g &1 NeRier fas g 8 2 2

Options:
A-otobacter
y Tl aey

Clostridium

o gl .’fﬂ. f:fs BT

Rhizebitnm

- N EICLL

Frankia

4 PIET

Question Number : 122 Question Id : 5431075443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
Which enzyme is used to join two D. N. A fragments ?

HI-AT T-ol1SH &I Slo Uo o Tabal @I Gls H WY sl & 7

Options:
Ligase
-H I .__l :“ '\«.:':|

Restriction Endonuclease
5 R Trs el 10

Exonuclease
J..-N_l“l __d\rrcrﬂ ':{'u_

3.

@collegedunias



Helicaze

= M
C o

4 =0

Question Number : 123 Question 1d : 5431075444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Question Label : Multiple Choice Guestion
Insectivorous plants can grow in the soil which is deficient in :
SicHell UIY 99 Fa] | 97 §dhd © fordd @El Bl 8
Options:
Nitrogen

| TEENT &

Calcium

> r‘k, HJ\:- - Fﬁ
Magnesium
Water

4 STl B

Question Number : 124 Question Id : 5431075445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

R. Q. of fatty substances is generally :

qUT yarEdt &1 R. Q. 9MEaad Bl ©
Options:

One
1, P

More than one
o TP Y 3

Less than one
5 U@ T &H

Maore than ten
4 o9 W 3fEs

&collegedunias



Question Number : 125 Question Id : 5431075446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which Pyramid is always upright ?
Options:
Pyramid of Number

| e @ RS

Pyramid of Biomass
o HIHTE chl Hq ﬁ]@

Pyramid of Energy
= Tl w1 s

Pyramid of Energy and Number
" Tl Td T & e

Sub-Section Number: 2
Sub-Section 1d: 54310763
Question Shuffling Allowed : Yes

Question Number : 126 Question Id : 5431075447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
Glucose is converted to glyvecogen in the :

TShTe TeTgehIal § qiNafd 8l &

Options:
Liver

1, &ER

Mouth cavity

> TG TfEwT H

Intestine
5 dd H

Kidney
9% H

&collegedunias



Question Number : 127 Question Id : 5431075448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label ; Multiple Choice Guestion

Protein is finally digested into aminoacids in :
UIe 3ad: vHETTaE ¥ U= §

Options:
Liver

, T

Stomach
AT H

Intestinal luminal cells
A= fA-d SIfETa §

Intestinal lumen
A= gH |

Question Number : 128 Question Id : 5431075449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Net gain of ATP molecules in anaerobic respiration, i.e, breakdown of one

molecule of glucose into two molecules of pyruvic acid, is :

HaAgGidl T9HA SUIT UiEolde US @& o1 AU H ool & U A & cod H
% = B

TSIl SVt T TE A9 E

Options:

ki

[

Question Number : 129 Question Id : 5431075450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Cyclic AMP is synthesized from ATP by an enzyme called -
USTSH BT UEl I g1 UUHYT §eafad 21a1 & ford HET W 8 ¢
Options: Qcollegedunias



Restriction endonuclease
, Rz gy

Adenyl cyclase
o UlETEe HTgdeld

Phosphodiesterase
5 BIEPISIEEREN]

ATPaze

Question Number : 130 Question Id : 5431075451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion
Which one of the following cell types does not divide in adult organisms ?
=T HITETHT Tl § DIA-A] UF aO%h oid § fawitorT Faf aar & 7
Options:
Primary germ cells
| THE O SR

Neurons

Intestinal epithelinm
. A= FUFe

Corneal epithelium
4 I e

Question Number : 131 Question Id : 5431075452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Polysomes are many :
EI'_T |q:| :l '::I.-:‘{E- %" 5

Options:
Ribosomes attached to an individual mRNA

, TEETHF AP THARGAY H ST B ¥




Chain of nucleosomes forming chromatin
hTHCA T alel gfFerards &1 el

Several lysosomes fusing during phagoeytosis
5 PIRIHT FET & SN A dlel A6 AFAraH

Centrosomes clusterine durine mitotic division
[} =

AT fdTe & SR WH 814 a1 WA

4.

Question Number : 132 Question Id : 5431075453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

During meiosis when a cell actually becomes haploid ?
GV ® SN T BILR grd H SO 2 9wl @
Options:

At the end of second division

1{@1%141??[&‘7;%1?

Durj_ug recombination in pac11319119
2 UHICH H TR @ 3R

During chiasmata terminalization at diakinesis

4 qTTerd § ST T JHI9 B SR

At the end of first division

4 -rﬁ_i\':| _-1.221:] \_1""_‘| T?ﬁ :ﬂ-ﬂ- ﬁ[

Question Number : 133 Question Id : 5431075454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which one of the following organelles is rich in acid hydrolases ?
=1 Sidl | -9 Uh Wd UHE sEgieds 9 IR Bl 7 7

Options:
Lysosomes

| 3 e

Golgi complex

gcollegedunias



Peroxizomes

Rough endoplasmic reticulum
Vg SIS AT

Question Number : 134 Question Id : 5431075455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label ; Multiple Choice Question

Most of the membrane lipids are synthesized on :
Aferpier fEieall foifds 9vefta 81 2 ¢

Options:

Rough endoplasmic reticulum

YRGY el Td Aemard )

Nucleolus

o [t W

Smooth endoplasmic reticulum
eI SSIelNAS Yohed X

Nucleus

47~jl__l'_-1"1?‘t‘~5

Question Number : 135 Question Id : 5431075456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A chain of three amino acids linked bv peptide bonds is called as a :
UCIgs dIvs 8N 9 o Ul TRES @1 el $I &8l ol 8

Options:
Polypeptide
| UeEES & w0 °

Iripeptide
5 gIRUCiEs & w0 H

Dipeptide
5 SEICES & ® H

&collegedunias



Amino acyl molecule

o, ST ORTeT 3 @ 0§

Question Number : 136 Question Id : 5431075457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Guestion
The organs of our body that are rich in T and B-cells are :

EHN TRV &1 T A1 21 SN G-IEme § W ©

Options:
Liver and gall bladder

Brain and spinal cord
ARETSh Td Jo¥o

Spleen and lymph nodes
5 WATET Ud ot Uiy

Small and large intestine

4 B vd 7 o

Question Number : 137 Question Id : 5431075458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1

Cuestion Label ; Multiple Choice Question
An allergic reaction is initiated by antibodies of :
gogoial deadl widfhar 1 4 9§ fhgs 0T 9iasRs gN 3 8l @ 7

Options:
IeM group

y, SHRSIREE IR

[gA group




Question Number : 138 Question Id : 5431075459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

If a cell contains 23 pairs of chromosomes just after completion of mitotic
telophase, how manyv chromatids were present in metaphase ?

gfe Il | Gl S=Eae & YN B ® P "8 YUNF & 23 oS £ dl
FeTaey | o] srfce Suierd B © 2

Options:

23
1.

Question Number : 139 Question Id : 5431075460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Grey crescent of frog embrvo represents the future :
e YU BT HEeT FgaaibN Jia S HEHT Bl €

Options:
Anterior side of developing embryo

a9 8 YUl @I ST U

Posterior side of developing embrvo

9% ¥ YOr @ fUedr ua

Ventral side of developing embryo
9% I8 YUT I JAEN UE

Dorsal side of developing embryo
4 9% YT HUT B S e

Question Number : 140 Question Id : 5431075461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

&collegedunias



Which one of the following is net relevant to cleavage divisions ?
=1 5 9 SH-91 U6 fagoq favres @ foy g 78 € 7

Options:
The daughter cells are smaller in size than the mother cell

, T PIRPT A PR § AHR F BIET B E

There is no growth in the volume of the embryo

The embryo rapidly grows in size as the cell increase in number
o 0T ERER AR H dedl & W ¥ SIEr S F ged 2

The divisions are rapid compared to mitotic divisions
o TS 1 G & @RT o & W @

Question Number : 141 Question Id : 5431075462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Hensen's node is formed during gastrulation of :
e @ |9 9 H 9 e urEe @ e 9901 8 2
Options:

Amphibians

GHATR]

Mammals

Sea urchin

AR &

Birds
, T @

Question Number : 142 Question 1d : 5431075463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A living tossilis :

Options:



A tosszil preserved in almost live condition

T Waid Rerfd H gRiEd v W arel SiEred

1.
An organism which is nes vly evolved and living
5 1 I R B | M £ 8 = 3 2 1 B £ O [ M S

An organism which has survived without substantial evolutionary changes
over a long period of time.

5 o T @9 aaa § wrel Geraress gNaoql & f@ar Sifag 8

An organism which just died

43‘131%\:4#1@?

Question Number : 143 Question Id : 5431075464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple Choice Cuestion

The embryos of vertebrate group of organisms show close similarity. An
evolutionary theory which deals with this aspect is known as :

HUGHT T2 BT YU F FHTH FAEG GE@d g [AerEae] Meia |1 39 Ugd 9
Tafed 2, W Wl ©

Options:
Inheritance of acquired characters
| T eI & R

Theory of recapitulation
2 .::'E . |"\ "—]\.r i Fﬁr -":.:"3; -|E

Origin of species
S Dl I

58

Theory of anatomy
RN AT a5 &1 g

4

Question Number : 144 Question 1d : 5431075465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following statements is incorrect ?
= ¥ 9, ®H-91 B9 Tofd & 7
Options:

gcollegedunias



The notochord is ectodermal in origin
geevey] Iea H afgul ey 8l g |

The brain is ectodermal in origin
gfigss I 8 afgaawiead 8l 2|

The dige:«tive system is endodermal in origin
L I Tt i e M o B s 0 M T | A

Bones are mesodermal in origin
afterd 9oy 4 weaeey Bl 2 |

Question Number : 145 Question Id : 5431075466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Major site of gaseous exchange in lungs is :
BHel § T A o ugw e E
Options:

Tracheoles

1 ; "«h?.f s

Bronchioles

2 Tag-Th

Pulmonary vein

, BIE T
Alveoli
4, NSRS

Question Number : 146 Question 1d : 5431075467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Question Label : Multiple Choice Guestion
If a man from sea coast goes to Everest peak :

e @fda §Ha] a¢ 9 [ane @ 9e] I ordr © ¢

Options:
Hi= heart beat will decrease
, B9 B W gSH ")

&collegedunias



His respiratory rate will decrease
B Ja9T oY Tl

His breathing and heart beat will increase
SOHT 999 AT 8ol & gsd doril

His breathing and heart beat will decrease
SOHT 999 dUT Bod B gSd ool

Question Number : 147 Question Id : 5431075468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
The membrane phospholipids form bilayer, when water is available on both
sides, due to:
TSreell wiEplaiue f§URa &9/ 8 99 Sl oX% OX Wd Sude 26T 8
Options:
Its amphipathic nature
] g% IHITR Ui & HR

Presence of unsaturated fatty acids
5 Eﬂ?:IIﬂL'?I aarg A b Fue EF ch]¥U

Presence of saturated and unsaturated fatty acids in its tail
: §9% Y=9 § 9« Ud FHgW auid A & SURYfd & SN

Presence of cholesterol along with phospholipids

. FIERITIS @ O Pleieeld ® SuRfa & B

Question Number : 148 Question Id : 5431075469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Due to mutation one amino acid may get replaced by another amino acid. Such
mutations are termed as :

SeaiRdaes & BRU Uh UHAl TS B Uh-gEy UHEAT UES §T Siedl-agdl off
Thdl & | 39 UBR & Scdda-i &l ®el ol &

Options:
MNonsense mutation
A9 SdRdaT @ w4 |

1

gcollegedunias



Misszense mutation
5 O~ SoNgaT & &9 o

Frame shift mutation
5 % fime Saafads @ %9 §

Point mutation
e SNgdT © ®9 §

4.

Question Number : 149 Question Id : 5431075470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

For a given gene, a diploid individual will contain :
S T Wi & oy i et & 2
Options:

two alleles

, &1 TETed

one allele

o> SF Yelle

multiple alleles

Wi gernes

. CIRTIG

Question Number : 150 Question Id : 5431075471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The main producers in an aquatic ecosystem are :
Wity MNReIfa®l 9 5 799 9oa® 8l © ¢
Options:

Large rooted and floating plants
) dAq FE arAT U9 id] oiEm

Zooplankton

z PGS



Phytoplankton

Detrivores

5 ., i

4 Pl =1
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Question Number : 151 Question Id : 5431075472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

First Agriculture University established in India is :
g H =Iiud 9209 Eflcﬁ Jeaidenad €

Options:
TNAU, Coimbatore

4 Tlo THoToo, W

UAS, Bengaluru
5 FZ{EJQO Ho g G ES]

GBPUAT, Pantnagar
- Z—?Tc-?ﬁrﬁﬂ*[o?;:p@aﬁo_ FEN I

PAU, Ludhiana
s loToo, SRR

Question Number : 152 Question Id : 5431075473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 000 BlavAn 1 nad -
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1 &collegeduma



Question Label ; Multiple Choice Guestion
Maize has the somatic chromosome number of :
HeeRT H e UE HeE B 2

Options:
20

40
28

14

Question Number : 153 Question 1d : 5431075474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Father of Indian green revolution is :
TR 8N Hifd @ o d & °
Options:

Dr.B.P. Pal
1 Efo "Wl e UTA

Dr. M. 5. Swaminathan
- o THo THo WHMIA

Dr. B. L. Chopra
= Efo Hlo Tolo Eﬂ—\-:.'[

Dr. V. Kurien
o Eio dlo ng’x&é]ﬁ

Question Number : 154 Question 1d : 5431075475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
Which of the following is not a cash crop ?
= ¥ 9 -1 U FFel B T8 8 7
Options:

Sugarcane

g T
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Cotton

Groundnuat

r

Paddy
4. ©H

Question Number : 155 Question Id : 5431075476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Deficiency symptoms of calcium on plants first appear at :
Ui TN Hiowad & S8 & T80 9499 USd TEE o 2

Options:
Lower leaves

| Pl wRRl R

Middle leaves
o HE W Uil W

Terminal leaves

N ol ™

All leaves
4 T Rt W

Question Number : 156 Question Id : 5431075477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Anthrax is a serious disease of :
U U IR AN 8
Options:

Cattle

1. ™

Poultry

il

&collegedunias



Fizh
5 Tl

All of the three

4 G H R

Question Number : 157 Question 1d : 5431075478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Cytoplasmic male sterility is utilized in :
HITETRTe] AELdl & SUarT fhdar @ 2 ¢

Options:
Pure line selection

fé,::i{g J9Thd dv]

Bulk method
> g7 fafa

Hybrid seed production

ThT dhad ScdIg

=

Progeny test
4 Tl SR

Question Number : 158 Question Id : 5431075479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Desuckering is done in :

\é_ ﬂf}:'qi FF?.] V'_'Hl.:I _% :

Options:
Potato

e H

Tomato
cHEY §

Sugarcane
3. T g

&collegedunias



Tobacco
T

Question Number : 159 Question Id : 5431075480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Which state is knowmn as fruit bowl in India ?
HRA @ g 90 @I Hell I HeNl Hel oAl & 7
Options:

Karnataka

o i

Harvyana

2 ST

Punjab
= LS

Himachal Pradesh
4 |-F\.':| *C|<-:1 T-F-:en-?T

Question Number : 160 Question Id : 5431075481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Question Label : Multiple Choice Question
When world food day is celebrated ?

fqed Wrey feay &9 Fra oar & 7

Options:
Qctoher, 20

, SFICER, 20
October, 16
&-‘If}?t.fn_ 16

Qctober, 22

. - I_.E{,:‘:. 22

October, 30
i L':—]t]?f\r:]?l 30

&collegedunias



Question Number : 161 Question Id : 5431075482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Guestion
Citrus canker is caused by :

g By [ HRU BT © 7

Options:
Bacteria

| STy

Nematode

b
]

%
2 i LS B

Algae

Fungi
4 T

Question Number : 162 Question Id : 5431075483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which one of the following is a rabi season crop ?

b -

M= H W S Ud Y6 °T9E & Heg B 7
Options:
Linseed

HolH

1.

Jute
2 SIE
Maize
3. :|-.':|:(:|:'.l|

Ragi
4 XN

Question Number : 163 Question Id : 5431075484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

&collegedunias



Commercial method of papava propagation is :
TS @1 SgEntiae gad faf 2

Options:
Seed

p SIS
Root
o VS

Budding

Gratting
4 tholH o=

Question Number : 164 Question Id : 5431075485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Kufri Chipsona-1 is a popular variety of :
HE FAH-1 U Armiad Jurtd 2

Options:
Onion
::l "-fl

Brinjal
ERE]

Tomato
4. CHIEX

Question Number : 165 Question Id : 5431075486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
H}gl‘ﬂl‘l‘i?t&l‘ iz 11sed to measure :

SISAMHICY & JAFT T A+ § fHar e 2 2

Options:

&collegedunias



Humidity
1 H arrz

Temperature

Le |
|

Rain

r

4 GHl

Question Number : 166 Question Id : 5431075487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The drip irrigation system was started in :
fga Ri=rg womell @ gwend fHar T o

Options:
India

. Ad
Israel

o .<|E iR O i[

Holland
2 RGER:

China

4_Eﬁ_rlr[

Question Number : 167 Question Id : 5431075488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Laszo is the trade name of herbicide -
SATET FIThATEI T TG -9 &
Options:

Atrazine

1 AChallH

gcollegedunias



Alachlor

Butachlor

3 tﬁ'_]‘c I Fi"i.;l- L

Isoproturon

HTSHTIICI
ST e
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Tikka disease is a comumon disease of -
Options:
Groundnut

o] -

Tomato
4. ._.] |-.- E

Question Number : 169 Question Id : 5431075490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Origin of Merino breed sheep is :
HRAT R o1 98T H IR B
Options:

Mexico

gcollegedunias



India

South Africa

I8 37T

Question Number : 170 Question Id : 5431075491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The lactation period in buffaloes is :
W9 § g o @I afy 26l ¥
Options:

130 days

180 fe+

210 days
210 o=

270 days
270 fe=

310 days
310 5=

Question Number : 171 Question Id : 5431075492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The seed rate of wheat crop is:

T?; e @ afel Y B ¢

Options:
60-30 kg/ha.

, 60-80 faT/Zo

30-100 kg/ha.
» 80-100 e /8o

100-120 kg /ha.

5 100-120 far/ ®o

&collegedunias



130-150 kg/ha.
4 130-150 f&T /8o

Question Number : 172 Question Id : 5431075493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Minimum support price for different crops are recommended by :

A= weel @ forg ~gaad FHE god @ SR @I WRil € ¢

Options:
FCl

| U W g

ICAR
zaﬁfﬁrzaw

Commiszion for Agricultural costs and prices

H ARG AN Jod AT

NABARD
ATaTS

Question Number : 173 Question Id : 5431075494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Latbel Multiple _holce Cuestion

The pH of a soil indicates its :
fAcel @1 Jlo Tdo Wdhd ol ©
Options:

Acidity

FRATIAT T

Alkalinity
> SWTIET &7

Both Acidity and Alkalinity
5 I Td @R GHT &1

NMNutrient status
PRI L i
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Guestion

Congress grass (Parthenium I t;fh‘f'uphorm:} iz noxious weed introduced in India
from :

HEHR] TRUTAN HIUH G (77 BveviERe) 9Rd 5 $8l | A/ 7

Options:
China

L

USA

UK
73

Question Number : 175 Question Id : 5431075496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
Largest paddy producing country in the world :
favg ¥ g9 IwreT H arar el 99 B
Options:

Russia

China

4 AH
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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Fertilizer that supply one major plant nutrient is known as :
T H& UTEY UMM Ted D1 Jid H drel A< @] Hal ol B

Options:
Straight fertilizer

wT 9 dveh

Single fertilizer
o UHd T

Complex fertilizer

% | -f_:"u H '-._.3 Cl;\{ r:FJ

Mixed fertilizer
, TP Saa

Question Number : 177 Question Id : 5431075498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Kreb's cycle is also known as :
hed T Bl haEl oKl B

Options:
Citric acid cycle

Hifc® Uhas O

1

Tricarboxylic acid cycle
5 cTgdTalagierd Uae H

Both citric acid cycle and tricarboxylic acid cycle
difcs e = 3R g daiadicd b @ gl

3

Cy path way
” Hl, 91 9
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uestion Label - Multiple Choice Cuestion

Bitter taste in brinjal fruit is due to :
&9 & el H Hedl WIg 8l BT BRI Bl B

Options:



Glycoalkaloids

RIECA REATIELS

Allyl propyl disulphide

Carotenoids

. T A
f.I:‘:' Q T . I L R E:I
-

Lycopene

SN R

URTd UIUSe SEEehEs
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Juestion Label - Multiple Choice Cuestion

Pashmina iz a breed of :
Options:
Buffalo

Goat
3 T

Sheep
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Cuestion Label - Multiple Choice Cuestion

The main symptom of foot and mouth disease is :

GIad — J_I:j:E'.I.{ri!H AR @ HE odu &

Options:
Sunken eyes

&collegedunias



Blisters in the mouth and on feet

Eij‘ffaﬁ?ﬁﬁﬁ*mr

Bloody diarrhoea

Rapid pulse and heart rates
4 TSI 3R 88T @1 O ¥
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Question Label - Multiple Choice Guestion
Father of genetics is :
Options:
Aristotle

Johnzon

5. VI

Mendel

5,
=

g T
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Cuestion Label - Multiple Choice Question

Roze i= cc:mmerciall}' propagated by :
TcTd @1 Shaande el UgeH fHar S ¢

Options:
T budding
1 E'T r];.-fr} IR Es |

Ceed

=3
= RN |

z.
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Chip budding
o [T HieTHrH

Ring budding
4 GCTT DicThTa
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Juestion Label : Multiple Choice Question

The seed rate of pigeon pea :
3BT I 4 BY B |

Options:
8-10 kg/ha.
3-10 a1 / o

10-12 kg /ha.
10-12 f&31 /2o

12_15 kgf;hc'l.
12-15 faT /2o

15-18 kg /ha.
15-18 fobarm /8o
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uestion Label - Multiple Choice Cuestion

Gundhi bug is an important insect ot :
: - i
T g9 Uch HeTdyr e 2 :

Options:
Wheat

:x;; s
1 F‘-:\ i

Brinjal
5 S Bl

Paddy
eI R
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Cotton
HUTH B
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Cuestion Lateal Multiple Choice Guestion

Kinnow is the hybrid variety of :
fh=11 @ g f e 8

Options:
Lime

GIER

Orange

Mandarin

]
- -u-'.‘_".\I -

=l

Lemon

i
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Cuestion Label @ Multiple Choice Question

IVLP stands for :
S I B 1 e )
Options:
Idea for village level programme

Institutional village linkage programme
‘11,.\'3"-“ g UAH HeetiAdl ceiddhH

2

Indian vﬂlage level programme
o AR T w0 HTUHH

International \-‘ﬂlage level programme
o TR T WA wrisH
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ouestion Label : Multiple Choice Question

Conversion unit of one acre =
L : T
UdH The Dl | SHIs =

Options:
247 ha
1 247 go
0.405 ha.
0.405 go

=1
2832 ha
” 2832 go
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Cuestion Label - Multiple Choice Question

Most appropriate fruit for preparation of jelly is :
ofell 9919 @ oY 99y SUgad B ©

Options:
Grapes

L I

Guava
HH=D

Papaya

d

e i

Mango
ATH
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Lycopersicun esculantum is a botanical name of :
ATgHIIG e Yepelcd arias A8 §

Options:
Potato

1 HTe],
Tomato
2. E E.- 3

Onion

Aonla
Hae
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Cuestion Label : Multiple Choice Guestion
Echinochlon frimentacen is a botanical name of :

SHISTTAIST HHACTaST A idd ATF 8

Options:

Pearl millet
1 =1 E%; K

Finger millet

ERll

Barnyard millet
b | .CE

Sorghum
4, T
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uestion Label - Multiple Choice Cuestion

C Dmmlm_it}-' dm‘elnpm@nt programme started in the year :
AR [ SRiHT g gy | s fear 1 ?

Options:

Qcollegedunias



1965
1952

2
1948

195

J
&)
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Cuestion Label - Multiple Choice Question

During start the tractor engine is keptin :
¢y Buld CIc $ed 9HY YEd B ¢

Options:
First gear

goH fiRw ¥

Second gear

fgmr frae |

Neutral gear

;'-EE;'H RTe |

Top gear

4_F_'T'T{ﬁ‘ﬂﬂ{ff
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Juestion Label - Multiple CThoice Cuestion

The first central Agricultural University is located at :
TEdl B HiY favafgenaa Re ¢

Options:
YVaranasi

g% %

Bengaluru
L

&collegedunias



Imphal
3 EOPIC

Shantiniketan

e IEn TR
4.
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Cuestion Label @ Multiple Choice Question

How many eyes should be present in one piece of sugarcane for planting ?
"-.xl :ll:l E‘T |q.; : 1 FE .I':ll?ﬁ E_jc:li\g -ﬁ[ -(.};;\. ;il w.‘:‘i"(j F; "'frT T-*Il -EN\ T'I

Options:

10

100
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Vegetable farming is called :
el I Wil dEand 8

Options:
Floriculture

1 :lf; \_ h ot o

Olericulture

Al hody

Agriculture

i

Pomology

4 .\. s z \r"_:
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The inventor of bordeaux mixture is :
ars] Hem & anfawpns ©
Options:
Millardet
| foese

Hartin

Funk

Noble

4, T
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Which harrow has the highest working capacity ?
e &1 &1 FA GHar Adied aml 8 ¢
Options:
Disk Harrow
| feew #9

Liver Harrow

T‘i g .é_‘ﬂ-

Tikonia Harrow

\-fl:.' '_:Fl.ol ?'\

Ehutidar Harrow
YRR &
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Blanching is the necessary process in :
R 2 i
||| AHldIdch [dhdd] vid] &

Options:
Mango
%
Maize
5 Heh]

Cauliflower

= &

French bean

4, Y14
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Juestion Label - Multiple Choice Cuestion
Amrapali cultivar of mango is hybrid of :

Options:
Dashehari x Neelum

TIEN] X AleTH

Neelum x Alphonso

i

TTeTH % TThTE]

Neelum ¥ Dashehari
o o
—HledH X o?levl

Ratna x Alphonso
Tl % ST
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Couesticon Label ;- Multiple Choice Question

Origin place of litchi is :
oirdl & SRy = 8

Options:

&collegedunias



USA
LR

-

Africa
5 SIPIP

India
=

China

4 T
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